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l Read the following instructions carefully before you bepgin to adswer the questions.

IMPORTANT INSTRUCTIONS

« This Question Booklet contnins 50 questions in all,
« All questions coarry equal marks.
« Attempt all questions,

. Immediately after commencement of the cxamination, you should check up your

ﬁuumm Booklet and ensure thot the Question Boo Beries is printed on the to

ght-hand comer of the Booklet. Please chegk that the Booklet contalns 16 printe
pages Including two pages [Fage Nes, 14 and 15) for Rough Work snd no page or
question is missing or unprinted or torn e repedted. If you find any defect in this

Booklet, get it replaced immediately by s complete Booklet of the same series.

8, If there is any sort of mistake either of prntingor of factual nature, then out of English and
Hindi versions of the questions, the Engligh version will be treated as stondacd.

6. You must write yvour Eell Bumber inAhe space provided on the top of this page. Do not write
anything else on the Question Boaklet. "

7. An Answer Sheet will be supplig to Yiou separately by the Invigilator to mark the answers.
Tou must write your Name,/Rall No., Question Booklet Series and other particulars Ia
the epace provided oan Puf;__«l of the Answer Sheet provided, falling which your Answer
Sheet will not be evalnated.

8. You should encode vour Roll Number and the Question Booklet Serles A, B, Cor D as it is
printed on the topyrightthand’cormer of the Question Booklet with Black/Blue ink ballpaint
pen in the space provided on Page-2 of vour Answer Sheet. If you do not encode of fail to
encode the Correct seorles of your Question Booklet, your Answer Bheet will not be
evaluated orrectly.

9. Questions anti/their responses are printed in English and Hindi versions in this Booklet,
Each question gamprizes of four responses—[A}, (B). [C] and (D). You are to select ONLY ONE
correct re¥@pnss @hd mark it in your Answer Sheet. In cnse feel that there are more than
one corfest response, mark the response which you consider the best. In any case choose
DHLY ONE pesponse for each question. Your total marks will depend on the number of
‘“Correctiresponscs marked by you in the Answer Sheet. : . i

20> I the AnSwer Sheet, there are four brackets—(A}, (B), [C] and (] agninst ench guestion, To
anst&ir-ﬂlt questions you are to mark with Blnﬂlk;ﬂlu'ﬂ Llr'llk ballpoint pen ONLY ONE bracket
of your choice for cgcﬁ question. Select only one response for each question and mark it in

our Answer Sheet. If you mark mors than one answer for one quesion, the answer will be
Wobated o wrong. Usé Black/Blue ink ballpolnt pen enly to mark the answer In the
Answer Sheet. Any erasure or change is not allowed.

11. You should not remove or tear off any sheet from the Question Booklet, You are not allowed
to take this Question Booklet and the Answer Sheet out of the Examinntion Hall during the
examination. After the examination has coscluded, you must hand over your Answer
Sheet to the Invigilator, Thereafler, you ore permil to take awey the Question Booklet
with you.

12. Failure to comply with any of the above i“atmt{un_s t-.'ill_rq:nu:l-l:r you linble to such action er
penally as the [gumminaiun may decide at their discretion.
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Nerve cell does not divide becauss

,‘?y’ Maximum amount of oxygen is \/

exchanged from blood in they do not have 1

A i i

(A) lv.;:l't auricle of the heart (A] Golgi body

[B) right auricle of the heart ; :

[C) arteries of the body By s 1 s
@ [l%}/ capillaries surrounding the () nucleus e

alveoli f"‘“ :
E{J D] cenfrosome -
2/ Oxygen is mainly transported as

Al carbo hi .
A Wpaemgle 7./ Connectiof /Between axon and

{B] globin Sl @
defidritenis called

L@’ (C] oxyhaemoglobin N
(D] None of the above (A desmosome

! ; s animation
3/ Breathing rate n humans is ZEF0 B) .

=iy

controlled by " |C) synapse
(A)  hypothalamus _ ¢ .
EEJ A (D] bramn
(¢} (C) medulla oblongata’
(D] cerebellum B¢ Blood is a
J{ Removal‘of amfiino group of amino £ Fela
acid @\ transform it into keto 51‘3’;_ connective tissue
acid is called @ .
[ jy tion [C) ecardiac tissue
@ [B’i amination Y (D) None of the above
[CY transamination

() deamination
/ The brain and spinal cord

5/ What is the structural and together make
' it of the nervous
functional umt o (] PNS
system?
(A)  Axon (B) reflux action
(B} Brain | i{'} ’ (CL. CNS
Q) Neuron |
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o PT

l,u]('whiﬂh membrane  connects 14./What is the diastolic blood

tongue to the bottom of the pressure in normal humans?
mouth?
(4) 90 mm Hg
|4 Leg
: (Bl 80 mm Hg
i =B} Frenulum [F:r >
% o
Ty : c) 120 H
! 4 (C] Barrier I TR
D) Septum (D) 140 mm Hg

1—1./ Eustachian tube is present iﬁ; What causes angina pectoris?

between (A)OIncrease’in blood pressure
(A) middle ear and pharynx (B) (\Irregular heartbeat
— 5!9'] HINAT ear A 1y () /Lack of oxygen in heart
'L_‘ﬂ;'r (C) middle ear and larynx @ " muscles

(D) outer ear and pharynx (D] MNone of the above

\1:9/ Which of the following sphinicters !":E’/ Which of the following is not a

causes the release of thé urine? heart disease? *

(Al Urethral (Af Celiac disease
(B) Oesophageal ” (B) Atherosclerosis

(C) Cardigc ' IE.;EEI (C} Hypertension

(D) Fyjlogic (D) Angina pecioris

urine, known as?
(A) Defaecation (A)

@ B Hinatio @ Bl Electrocardiogram

(C) Electricity Cardiac Group

13, What is th f etin
k * PIOEERS. oL CRereliig i%ﬂmt is the full form of ECG?

Electrocardium Granules

(C) Digestion
(D) Polyuria (D) Electrocardio Group

frec HRPRUNJ 62858/ 1Re Y o g ey A e
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{l-i/ Where are the sperms produced?
(A) Testis
(B] Seminiferous tubules
; | [C) Prostate gland
D)

Epidermis

\ly The primary sex organ of female

reproductive system is
(A) uterus
(B) cervix

(C) fallopian tube

Qre-
20, Cell was discovered by
(A} Robert Swanson
(Bl Robert Emi;.m

(C] Leeuwerthoelk

®

21

(D) Robert Hooke .

ABCs eof basic life support are

- Alrway, Breathing, Circula-

(A)
= tion

&)”

€)

Action, Breathing, Circula-
tion

Airway, Bridge, Canal'

() None of the above
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22. An efficient dressing should be
(A) ody
(B] moist

(C}] with germ

Mhﬂ aim of first aid is to
(A) limit farther injuries
(B) Ppromete recovery

(C) ‘preserve life and limbs
[Ell, All of the above .

HIV belongs to which of the
following genus members of
virus?

[A)
(Bl

Parvovirus
Remirusz L
Fotavirus .

@ @XREtrﬂ?ims

\_2/5/ What is sex ratio?y

(Al The study of population
growth

(B, The difference  between
birthrate and death rate

(ﬂ L i@/‘]‘he number of females per

thousand male

(D). The number of females per
hundred male

Android a
O 1 T e
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_%,ﬁ’-' Name the State having the 31, /How many bones dees an adult
highest percentage of literacy human skelcton have?
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hevel (A] 209
% :
{A) Punjab B 2 36
(B) West Bengal (G-’J
@ () Kerala ~ L
' _ (D) 207

() Maharashtra

(32 Which of the following parts of

human skeleton forms the helmet
emE [A) adol t lati for ‘the " protéction of human
EitE  (A) adolescent population v By

ﬁ:l-ﬁ #/B] occupational structure .
¥C) sex ratio AR

(D) age composition @ (B) Mandible

\{gy Cranium
M&tﬂ:-snluble vitamin is (D) Temporal bone
(A) witamin D

WE number of people in different
- age groups is referred as

; (B) witamin B @/{mﬁch of the following types of
@ (C) witamin A cartilage is present at the joints
' D) vi in E of long bones in humans?
(4) Elastic
citrus fruits? :
@A) i 2 0 @ (C) Fibrous
(B) Vilinin B = e
(Cyw Vitamin A
=, B A 34« Which of the following structures
_ L}" keeps blood flowing unidirec-
& tionally in humans?
EP// Pepsin converts
(Al Septum

(A) carbohydrate to glucose

B protein to amino acid @ ,[EJ/“"'HI‘-'E

(€} Bronchiole

@ (C) starch to glucose
(D) fat to fatty acid (D) Neuron
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biy Tﬁ-"hic:h of the following taste buds :33/ Crown of teeth is covered by
i present on the lateral sides of

the human tonguc? |A] dentine
(A) Sour i B] skin
(B) Sweet
= 7 : enamel
L&) (©) Bitter E \ﬁgr _
= D) None of the abave
(D) Salty
&
) 40. /Normal pHeange of saliva is
Qﬁ// Which of the following hormones \/f £ ’
helps in the secretion of HCl from (A)01-0<20
stomach? '
6-2=7-6
(A) Pepsin 2
- c) /11-0-12-
(5. Renin DN,
@ (C) Gastrin 1 8200
(D) Secretin
411- ::rhE invnlunl‘,ar_r,- muﬂ,ﬂular mMove-
37( Which of the following cell§ in the ¢ ~ment of alimentary canal is called
pancreas makes insulin? {ﬁ!{, peristalsis movement

(A) Germ cell (B) smooth movement

Bl Be : Bl
@ Ol Bete Ay (C] amoeboid mevement

(C) Epithelial cell
(D) All of the E.l:u._‘_lr'l;.rg

(D) Hepatic ‘cell
W of the following is fhe \4-2./Whjr:h of the following does not
largest gland in human body? release any enzyme?
l[{i_.]_ Liver (A) Stomach
@ (B) Pancreas = (B) Pancreas
(C) Thymus @ (C) Salivary gland
(D) Kidney

EP_L Esoph BEus
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:?f —— is the liquid which is @?ﬁ' Who identified i
present between eye lens and

L
L4 et
ol il =]

cornea. (A) Claude
AA]  Agueous humor (B) Palade
TR (B] Vitreous humor ) (C) Christian de Duve
- pC) Cerebrospinal fluid ( / (D) Novikoff

(D] Synovial fluid

: ; ite of respiration inside the
Which of the following is true for %ﬂﬂ a1 P

= s lungs is
aerobic respiration in humans? S

!:5.}" Glucose + GH}"EII‘::I‘I f.lﬂl.:l bronchi
e:--\j = Carbon dioxide + Water (B) » brenchioles
. (B) Glucose = Carbon dioxide .

+ Water @ (€L alveoli
(C) Glucose + Water m% (D) diaphragm
= Carbon dioxide + Water tﬁi’:

(D) None of the above \4}/ acts as air conditioners,

%ﬂryﬁhmﬂ, mﬂPiIE.ﬁﬂﬂfrﬁlﬂts in (A) Fharynx
(B] Lung

(A) anabolism
(B) release of earbon dioxide @ (C] Nasal chamber
@ %(C) release of oxygen (D) Larynx
4D} Neone of the above
o O B0. After deep inspiration, maximum
46, Where in a cell most of the expiration of lungs is called
aerobic respiration takes place?

(A} inspiratory capacity

(A) Ribosome
|B) functional residual capacity

(B] Cytoplasm
(D) Nucleus (D) total lung capacity
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